L =X BRiER

10 - 20 - 30 - 40X DER ©M6%£E1085H
E | = % ouT IN |TtoTaL| HDcP | NET
& | L £ 44 41 85 12 73
@l LT EX 44 37 81 7.2 73.8
3 fir| 1BE BT 43 49 92 18 74
4 fi ol 48 41 89 14.4 74.6
5 fi| Kitt BE 38 44 82 7.2 74.8
B-B| [EBy %A 70 70 140 36 104

50iZ L DEB
E | = % ouT IN |TtoTaL| HDcP | NET
& 8| LE s 40 42 82 10.8 71.2
se@msl PSR AR 45 41 86 14.4 71.6
3 fu| EHN R 54 42 96 22.8 73.2
4 fi| HBER 52 43 95 21.6 73.4
5 fi| {E#E HiT 46 46 92 16.8 75.2
B-B| &M &R 48 54 102 16.8 85.2

60iZILDER
E | = % ouT IN |TtoTaL| HDcP | NET
# | =R 47 49 96 22.8 73.2
sEm  FET 44 49 93 19.2 73.8
3 fiz| LEHME 46 46 92 18 74
4 | i BERR 41 51 92 18 74
5 | A E= 48 42 90 15.6 74.4
B-B| HIRIEE 54 48 102 16.8 85.2

70 - 80X DEB
E | = % ouT IN |TtoTaL| HDCcP | NET
# | HEEE 41 40 81 8.4 72.6
#EH HAE 41 43 84 10.8 73.2
3 fir| HEF B 47 48 95 21.6 73.4
4 | FHlxEE 49 52 101 27.6 73.4
5 | THRA 41 35 76 2.4 73.6
B-B| #kil— 48 43 91 10.8 80.2




